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NONLINEAR PROPERTIES OF A SIMPLIFILED
CLIMATE SYSTEM

Zheng Zuguang Liu Ping Liu Lihong

(Bejing Institute of Meteorology, Beijing, 100081)

Liu Shida

(Dep artment of Geop hysics, Beijing University, Beijing, 100871)

Abstract

In this paper, an energy budget model with zero—dimension, in which the annual
mean global cloudness, surface temperature and atmospheric temperature in boundary
layer are chosen as climatic variables, is proposed. The results show that this model can
be used to simulate practical climate states in the suitable ranges of parameter values,
and to discuss nonlinear properties of climate system basing on the deviation equations
corresponding to this model and important role of cloud on the variation of climate
states.

Key words: Energy budget, Climate system, Nonlinear feature.
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